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PMOS cannot pass logic 0 properly

which is why
we use NAND

nmos cannot pass logic 1 properly and NOR gates

All Boolean expressions can be implemented using NAND NOR NOT

gates May not be optimised
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What is the minimum number of gates required to realise

a given boolean expression
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Trick Minimum number of NAND or NOR gates required

NAND NOR

NAND 1 4

NOR 4 1

AND 2 3

OR 3 2

OR 4 5

NOR 5 4



Samples NAND NOR
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delays Tu and Te are functions of RC

to reduce delays RC values must be low
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NMOS and PMOS materials different

ay drift
velocity depends on electric

field

determined by a parameter

called mobility
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Design a digital logic which can identify if an integer

0 9 is a prime number no calculation here

Convert to a boolean form A B C D Z

4 inputs are needed
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